
68 (906). .Р)йшдш& шЬгщиГ 2шй шфрй Ь]. 
ифр 1цши, ЦиппЦр шфрй Ь]. шрр 
1цши, фй рЬ иррЬй, фй рЬ ЬицфЬй: 

69 (907). Рш шшйр йЬр рф: 
70 (908). Орппр шгф йЬр рфй: 
71 (909). Офищ тйЬйши: 
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1 (910). ^-шрцрш тшйЬй: 
2 (911). Ъи рЬ йшишщ: 
3 (912). Ъи р т дшЦр тшйЬй: 
4 (913). Ь'Ь, цшрцрт тшйЬй: 
5 (914). Ь'Ь, грдррт йЬпйЬй: 
6 (915). Ь'Ь, грпррт фррршщ шйЬй: 
7 (916). Ь'Ь, трпш йрш Ьшфй: 
8 (917). Ь'Ь, трпшйрт тфппйрй ЬфирЬй: 
9 (918). Яшррт йЬпйЬй: 
10 (919). Яшррт *ррр*пр шйЬй: 
11 (920). ЦЬпОЬй р т ^шйрй: 
12 (921). Дрщшррт т т Ь й : 
13 (922). Зрпшйрт Црффпййр тшй: 
14 (923). ЗшЦрт тшйЬй: 
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1 (924). Циит& фри: 
2 (925). Ьй шиит&р: 
3 (926). ЬО ррЬрйифр: 
4 (927). 0-Ь ипш шйЬй, йЬпйЬй: 
5 (928). Ьй шфщпр шрЬр: 
6 (929). Ьй ршфйтйд шрЬр: 
7 (930). Ьй ррЬрф шрЬр: 
8(931). ЬйЬпршрЬр: 
9 (932). Ьй Ьпр Ц^ррЬ^йш^р: 
10 (933). Ьй иифршйд шрЬр: 
11 (934). Яшррт фрршщ шйЬй, рЬ и т т Ьй 

ширй: 
12 (935). Циф шфр ЦЬ шшпйш, рш Ьи шЬЬ 

Ьй шиЬ\: 
13 (936). Цифттйр . . . 
14 (937). ЧрЬифт шифр рй^йЬй, рЬ шшп Ьй 

ширй: 
15 (938). -Вт шрЬр: 

1Гьынгыа к 

1 (939). и.' 1рпДрий щпШ шрйр р т шшйр: 
2 (940). II' ш т црщршйЬи: 
3 (941). И' трш шфЬрр ирщишфр: 
4 (942). 1крирр ррршйш рЬ^: 
5 (943). Ц^шбйрррт ррпшйш, &Ьй ̂ ррйш: 
6 (944). ИйЬи, шйЬй, шршйрдрт т ш р т й ф 

ййшй: 
7 (945). ЦйЬи, шйЬй, т ш р т й ф йитЬи: 
8 (946). ЦйЬи, шйЬй, 1фифй йитЬи, шфр 

йищЬи: 
9 (947). Цйрйш шшфрй 1црЬй: 
10 (948). Шрйш ршррй 1црЬй: 
11 (949). Ц2фшр ирпртЬи' Ьшдр ф2тр 

*Р1рйЬи, бррр Цшррь дарйЬи: 
12 (950). Цфш шти 1цш: 
13 (951). Ц*1фш рицр шти 1цш: 
14 (952). ЦфЬррш рр^шйш: 
15 (953). ЦфЬррш ЦЬр шшпйш: 
16 (954). ЦитЦшй рйр&р йршй: 
17 (955). Цшш', ш т црйедрйрши: 
18 (956). Црш&рш Црффт иЬ шйгфр рф: 
19 (957). Рищр рдЬи, ршрр ушпЬи: 
20 (958). РЬртфдтрр рфй: 
21 (959). РЬфтрищрфи ш т : 
22 (960). Йрщррфи ш т : 
23 (961). Рррпщщшрш рфй: 
24 (962). Рп]рт ршгфб: 
25 (963). Йпщт бЬпйр: 
26 (964). Ч^тцш Ырпйр: 
27 (965). Ффцфй гфщф рЬц: 
28 (966). Ффцфй рш1ф йрш: 
29 (967). Ч^пщЬй $фщшррт шшйр: 
30 (968). Чкфцфй фшфш2рш ррррр: 
31 (969). Ч^пщЬй ршйифрт 1рщйр: 
32 (970). О^тцрршрпЦ рфй ш т : 
33 (971). О^тцр рпрфй р.]ййш: 
34 (972). ^прр рфши, йЬйиф рйй шЬйшй: 
35 (973). П-пцййши: 
36 (974). Ьффприфшй фирдр сцтйшй трр2 

фи *шЬйши: 
37 (975). Ьйршй тпфи" *Цшй *риршп 1цш: 
38 (976). Ьш пшйш1 ?шйрш шигф йифпЦй 

шйд 1фйш: 
39 (977). Ьш п п щ т Ьш фпррш йшйр: 
40 (978). Ьртд Ьи Цшфш йЬфщип ЦЬр 

шрйЬй: 
41 (979). Сгцэйрт ЦрЬшйЬррш шшпйш: 

' П-шйш ~1шц ((ТшСтр. ршйшишдр): 
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